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APRFE 260 mg/L 7 o %790 /kg
AR 50 mg/L 37 55 %790 7 /kg
Bk 0.005 mg/L F1 o 39,500 /kg
4 0.03 mg/L 3 5 %7900 7 /g
K= 2.0 mg/L 7 5 % 1,580 /kg
o 0.5 mg/L 7 5 % 1,580 /kg
= 1§42 05 mg/L AT ¢ 790~ /kg
4t 3.0 mg/L 7 o %790 /kg
£ 1.0 mg/L 37 & w790~ /kg
4 0.9 mg/L 37 5 %790 /kg
4% 5.0 mg/L AT ; 1,000 ~ /kg
& 0.05 mg/L 37 5 %2 370 7 kg
& 0.5 mg/L A7 ; 2,370 /kg
d 2.5 mg/L #7 o %1,5680~/kg
42 0.5 mg/L A7 ; 1,000~ /kg
bl 0.5 mg/L 1 o % 1,000 /kg
P 5.0 mg/L 37 ; H;r 1,580~ /kg
% R4 10 mg/L 37 5 %1,000 = /kg
"o 3.0 mg/L 375 ¢,31 000 = /kg
KR Sl 0.5 mg/L AT ; 1,580 ~/kg
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[ A e | 10 mg/L F7 o %1,000~ /kg
A 1.0 mg/L 7 5 %1580 = /kg
i i\ e 15 mg/L 37 o 72,000 /Kg
i $o 1.0 mg/L 37 5 % 1,580 /kg
§ it 1.0 mg/L 37 o 7,900 7 /Kg
(e ) 30 mg/L 7 o 41,000~ /kg
LR S 1.37 mg/L 375 ﬂ;,, 7,900 = /kg
& 5.0 mg/L 1 o 1,580 /kg
% RS 10 mg/L il r"*7907~/kg
5% 0.1 mg/L 37 o 73,000 7 /kg
4] 0.1 mg/L 1 o 3,000 /kg
8 [110&£1°* 1p
4p mg/L 1 o 3,000 /kg
6 |[113#1*1p
4 2.0 mg/L 7 o %1,000 7~ /kg
i 15 mg/L 7 o %:3,000 - /kg
I B 4.0 mg/L —
pdForuARE 2.0 mg/L —
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